2017-18 Grant Expense Form

Yes, I have uploaded my outcomes and photos in my online profile.

. Milanna Lee

Grant Recipient Name(s): \	Mayor		
School: Alternative 5	C/90/5	1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -	0 .
Grant Project Title:	rating Success While In	icreasing the Yau	tuation have
		\neg	

Description of Item	Cost
Oriental Trading 10/14/17 List Oriental Trading 10/17/17 List	205.27
	Subtotal: TOTAL PROJECT COST \$ 436,53

Were there any additional donated contributions or items supporting your project? If so, briefly describe.

Tused my Lead Teacher Monies to supplements this

Please attach this completed document along with the receipts and email to:

KEsworthy@ChampionsForLearning.org by May 7, 2018.

PLACED ON October 14, 2017	ordered 6 items	SHIPPED TO)	order # 686103824
order summary tem(s) Subtotal: Shipping & Handling: Discount: Sales Tax:	\$205.27 \$0.00 -\$5.00 \$0.00	SHIPPING A MILLIE LE CCPS 3710 EST NAPLES, 34104440 US	EE AVE , FL	
PAYMENT METHOD G Multiple	SRAND TOTAL \$200.27	order STA Partially S		
Package 1 Contents	TOTAL ITEM	IS: 6 OF 6		
ITEM	ORDERED	SHIPPED	PRICE	TOTAL
Graduation Cap Keychains 19/282 DOZEN	4	4	\$9,99	\$39.96
"You're A Star" Lanyards 24/2517 DOZEN	3	3	\$9.49	\$28.47
White Graduation Mortarboard Clappers 38/1398 DOZEN	2	2	\$7.49	\$14.98
Cheers to the Grad Magnetic Picture Frames 38/1072 DOZEN	a 8	8	\$7.49	\$59.92
Graduation Animal Friends 38/528 DOZEN	4	4	\$6.49	
Peanuts® Graduation Drawstring Bags 13767513 DOZEN	2	2	\$17.99	\$35.98

LACED ON October 17, 2017	9 Items	SHIPPED T	O		ORDER # 686181648
RDER SUMMARY tem(s) Subtotal: thipping & Handling: biscount; tales Tax:	\$231.26 \$23.13 -\$46.25 \$0.00	SHIPPING A MILLIE L CCPS 3710 EST NAPLES 3410444 US	EE (FEY AVE , FL		
AYMENT METHOD	GRANÐ TOTAL \$208.14	order sta Partially			
Package 1 Contents	TOTAL ITEM	IS: 9 OF 9			•
ITEM	ORDERED	SHIPPED	PRICE	TOTAL	
Monster Character Stress Balls 12/2603 DOZEN	2	2	\$14.99	\$29.98	
Glow Stick Assortment 13673461 UNIT	2	2	\$19.99	\$39.98	
"You're A Star" Lanyards 24/2517 DOZEN	2	2	\$9.49	\$18.98	
Mini Noise Putty 12/1862 UNIT	2	2	\$9.99	\$19.98	
Elementary School Graduation Stress Toys 13767503 DOZEN	2	2	\$14.99	\$29.98	
Glow-in-the-Dark Fidget Spinner 13787827 UNIT	<u>rs</u> 3	3	\$11.98	\$35.94	
Smile Face Yo-Yos 39/949 DOZEN	3	3	\$4.49	\$13.47	

2



Two-Tone Spike Ball Yo-Yos with <u>Eyes</u>

\$12.99

\$12.99

85/2670 DOZEN

Halloween Glow Necklaces 13704178 UNIT

\$14.98

\$29.96

🗐 Feedback